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MENTAL ABILITY 
 

1.  336, 210, 120, ?, 24, 6, 0 

 (A) 40 (B) 50 (C) 60 (D) 70 

2. Rakesh is standing at a point. He walks 20 m towards the East, then further 10 m towards South, 

then he walks 35 m towards the West and then further 5 m towards North. The he walks 15 m 

towards East. What is the straight distance between his starting point and the point where he 

reached last? 

 (A) 0 m  (B) 5 m  

 (C) Cannot be determined (D) None of these 

3. If L denotes ÷ , M denotes ×, P denotes + and Q denotes – , then which of the following 

statement is true? 

 (A) 32 P 8 L 16 Q 4 = 
2

3
−  (B) 6 M 18 Q 26 L 13 P 7 = 

13

173
 

 (C) 11 M 34 L 17 Q 8 L 3 = 
3

38
 (D) 9 P 9 L 9 Q 9 M 9 = – 71 

4. In place of ? Mark : 

  
 (A) 9 (B) 6 (C) 8 (D) 5 

 Which of the following is the mirror image of given is: 

5. T A R A I N 1 0 1 4 A 

 (A)   (B)   

 (C)   (D)  

 Which of the following is the water image of given is: 

6. P Q 8 A F 5 B Z 9 

 (A)  (B)  (C)  (D)  

7. In a cricket match, five batsman A,B,C, D and E scored an average of 36 runs, D scored 5 more 

than E, E scored 8 fewer than A, B scored as many as D and E combined, B and C scored 107 

between them. How many runs did E score? 

 (A) 62 (B) 45 (C) 20  (D) 36 

8. 4, 8, 16, ?, 64 

 (A) 20  (B) 30  (C) 32  (D) 34 
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MATHEMATICS 
 

9.  The value of (–5) + (–4) – (–4) – (–5) + (–5) + (–4) – (–5) + (–4) is 

 (A) –4 (B) –5  (C) 0 (D) –8  

10. A fraction which can be expressed as the sum of a natural number and a proper fraction is called 

 (A) Complex fraction  (B) Simple fraction 

 (C) Mixed fraction  (D) Proper fraction 

11. The mean of first seven whole number is 

 (A) 21 (B) 7 (C) 3 (D) 35 

12. If 
3

5

62.1

45.0
=

+

+

z

z
, then z = 

 (A) 4 (B) –4 (C) –8     (D) 8  

13. In the figure, AOB is a line, then x = 

 

 (A) 80
0
 (B) 70

0
 (C) 65

0
 (D) 40

0
 

14. Sum of two integers is 62. If one of the integer is -48 then the other is 

 (A) 14  (B) - 14  (C) -110  (D) 110  

15. Ajay’s father is 4 times as old as he is. After twenty years, his age will be twice that of Ajay’s, 

then, their present ages are 

 (A) 10, 40 (B) 7, 28 (C) 12, 48 (D) 10, 15 

16. The supplement of an acute is a/an _______ angle. 

 (A) Acute  (B) Obtuse  (C) Right  (D) Straight 

17. What should be added to 
5

7
to make it 

5

9
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(A) 
5

2
 (B) 4 (C) 

5

4
 (D) 

5

3
 

18. If a, b and c are the sides of a triangle, then 

 (A) a – b > c  (B) c > a + b  (C) c = a + b  (D) b < c + a 

19. A triangle whose lengths of sides are 5cm, 12cm and 13cm. The triangle is 

(A) Obtuse-angled triangle  (B) Acute-angled triangle 

 (C) Right-angled triangle  (D) Triangle is not formed 
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PHYSICS 
 

20. Relation between Celsius and Kelvin is 

 (A) C = K – 273.16  (B) K = C – 273.16 

 (C) 16.273
100

−= K
C

  (D) 
100

16.273−
=
K

C  

21. An iron weight at 45 
0
C is dipped in a bucket containing water 45 

0
C. The heat 

(A) Flow from water to iron weight (B) Flow from iron weight to water  

(C) Not flow between them (D) Both (A) and (B) 

22. A balloon is going upwards with velocity 12 m/sec. it releases a packet when it is at a height 65 

m from the ground. How much time the packet will take to reach the ground? 

 (A) 5 sec. (B) 6 sec. (C) 7 sec. (D) 8 sec. 

23. A particle starts with a velocity of 5 m/s and moves with a uniform acceleration of 2.5 m/s
2
 its 

velocity after 4 sec. is 

 (A) 10 m/s (B) 15 m/s (C) 20 m/s (D) 25 m/s 

24. A body starting from rest is moving with a uniform acceleration of 8 m/s
2
. Then the distance 

travelled by it in 5
th
 second will be 

 (A) 36 m (B) 40 m (C) 100 m (D) zero 

25. Ampere is the unit of 

(A) Length   (B) Temperature  

(C) Luminous intensity   (D) Current 

26. Which of the following instrument is used to measure electric potential?  

 (A) Ammeter  (B) Voltmeter 

 (C) Galvanometer  (D) None of these 
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CHEMISTRY 
 

27. Which of the following is not a chemical change? 

 (A) Rusting of iron  (B) Cooking of food 

 (C) Digestion of food  (D) Freezing of water 

28. Brown colour of the apple after cutting is 

 (A) Physical change  (B) Chemical change 

 (C) Biological change  (D) No change 

29. Basicity of acetic acid is 

 (A) 4 (B) 3 (C) 2 (D) 1 

30. Which is not an acid? 

 (A) NaH2PO2  (B) NaH2PO3 

 (C) NaH2PO4  (D) None of these 

31. Non-metallic oxides are generally 

 (A) Basic  (B) Amphoteric 

 (C) Acidic  (D) None of these 

32. Acidity of milk of Magnesia is 

 (A) 2  (B) 3 

 (C) 4  (D) 1 

33.  What is the formula of rust is  

 (A) Fe2O3  (B) Fe3O4.xH2O 

 (C) Fe2O3.xH2O  (D) FeO.xH2O 
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BIOLOGY 
 

34.  Plants obtain carbon dioxide from air through 

 (A) Stomata in leaf (B) Xylem of root (C) Vein of leaf (D) Hair of root 

35.  Which of the following is a parasitic plant? 

 (A) Cucumber  (B) Amarbel (C) Bitter gourd (D) Bottle gourd 

36. Name the largest gland in the body – 

 (A) Liver (B) Pancreas (C) Gall bladder (D) Salivary gland 

37. In grass eating animals like cows and buffaloes, the food is partially digested and is called 

 (A) Flux (B) Curd (C) Glue (D) Cud 

38. Lime water turns ________ when CO2 is passed through it 

 (A) Yellowish  (B) Milky 

 (C) Bluish  (D) Green 

39. The percentage of carbon dioxide in inhaled air and exhaled air is 

 (A) 0.04% and 4.4%  (B) 0.44% and 4.04% 

 (C) 0.004% and 4.04%  (D) 4.4% and 0.04% 

40. Valves are present in  

 (A) Arteries  (B) Veins 

 (C) Capillaries  (D) Both (A) and (B) 

 

 

************* 


